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1. Introduction
In RAN4#94-e and RAN#87-e, there had been extensive discussions for transient period capability. The following WF is continue study.

· There is no consensus on whether the transient time capability is feasible to test or not. RAN4 CR is 261 is noted. RAN4 continue discussing the feasibility of testing the transient periods in RAN4 during Q2 and report the outcome at RAN#88.
In this contribution, we provided some views on the values for the transient period capability.
2. Discussion
The current proposal in [1] propose to use 1, 2, 4, 7, 10 as the transient period values. However, whether 1us is a reasonable value was already widely questioned.

In the test method discussion, EVM measurement process was analysed in [2] and the proposal of using 
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 is also proposed. A figure very clearly depicted this was also presented which is copied below.
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In [3], the testability of tentative transient period value was analyized based on 15KHz SCS. Here more analysis is provided for other SCSs.

For transient period values X and Y, if both (X/2) < 0.75*CP_length and (Y/2) < 0.75*CP_length can be satisfied in the same time, then the test process cannot differentiate X and Y since the EVM measurement would be taken place in the blue “high” part anyway and transient period would not have an impact. It means that for the transient period X < 1.5*CP_length, the values cannot be differentiated. The following table is provided for different threshold for different SCSs:
Table 1: SCS and the corresponding threshold for transient period differention

	SCS (kHz)
	CP_length (us)
	1.5* CP_length

	15
	4.7
	7.1

	30
	2.3
	5.0

	60
	1.2
	1.8


Based on this, it could be seen that for 15/30/60KHz SCS, any transient period value less than 7.1/5.0/1.8us would not be differentiated. Considering the proximity of 1.8us and 2us and a reasonable margin, basically transient period value less than 2us would not be differentiated by this testing method, not to say that the 60kHz SCS is a quite uncommon configuration.
Observation: Transient period value less than 2us would basically not be differentiated by currently newly proposed testing method.

Based on this observation, the following proposal is provided:

Proposal: Do not introduce 1us as an option of transient period value.

3. Conclusion

In this contribution, we provided some views on the values for the transient period capability. The following observation and proposal were provided:
Observation: Transient period value less than 2us would basically not be differentiated by currently newly proposed testing method.

Proposal: Do not introduce 1us as an option of transient period value.
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